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SECTION A

This section consists of multiple-choice questions. Please answer the questions on the mark-
reading sheet as indicated on the Instruction form.
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Which of the following refers to core individual attributes that do not change?

1 Primary dimensions

2 Secondary dimensions
3 Individual differences

4 Multicultural differences

Which of the following refers to the generalisation based on widely held beliefs about what
vanous groups are hke?

1 Stereotypes
2. Attitudes.

3 Opinions

4 Discrmination

In a diversity survey, the dimension of management attitudes measures

individual’s beliefs, feelings and attitudes about the influence of race and gender

how supervisors are perceived to deal with tough interpersonal 1ssues

the perceived impact of organisational policies and procedures on race/gender groups
the perception of change required at different levels of management

BN -

Which of the following refers to a complex unconscious emotional state involving two parts of a
system?

1 Boundanes

2 Containment
3 identification
4 Authonisation

Which one of the following defence mechanisms i1s a process in which a person internalises
positive and preferred characteristics to establish closeness to and a constant presence with
the positive?

1 Introjection

2 Projection

3 Splitting

4 Introjective identification

indvidual defence mechanisms assist the in keeping unresolved conflicts and
anxieties which may be overwhelming and threatening, in the unconscious and outside of our
conscious awareness

ego
preconscious
id

superego

HWN =
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Discrimination based on is an example of the most common forms of discrimination in
organisations

1 religtous beliefs

2 personal appearances
3 age

4 mantal status

Which diversity paradigm allows the inclusion of people that are different from the dominant
system without having to change corporate culture or systems, in that you simply “out the
drfferent entity” on one side?

1 Isolate

2 Deny

3 Include/exclude
4 Assimilate
Wh

ich one of the following diversity paradigms permits the greatest accommodation of
diversity?

Build relationships
Tolerate differences
Foster mutual adaptation
Include differences

AWM -

The Racial Identity Development model consists of the foliowing stages

1 Pre-encounter, encounter, resistance, discovery and internalisation

2 Incapacity, blindness, pre-competence, basic competence and proficiency
3 Pre-encounter, encounter, immersion, internalisation and commitment

4 Naivety, acceptance, resistance, redefintion and intemalisation

The superego operates on the unconscious, preconscious and conscious levels In accordance
with the pnnciple

socual
moralistic
pleasure
reality

BN

Which one of the following development models 1s based on the premise that a special
dwersity focus should be adopted if the organisation Is to sustain its effectiveness?

Alkinclusive participation model

Value and synergy model

Value and task model

Sustainable organisational effectiveness model

BWN
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Which cne of the following refers to individual and group differences that contribute to distinct
social identihes?

1 Workforce diversity

2 Dwversity

3 Diversity psychodynamics
4 Diversity management

The Black Identity Transformation Model consists of five stages Which one of the following 1s
stage 27

1 Pre-encounter
2 Internaiisation
3 Immersion
4 Encounter

Which one of the following refers to an unconscious Iinterpersonal interaction in which the
individual splts off and puts part of his or her unacceptable feeling nto another person or
group?

1 Splitting

2 Introjective identification
3 Projection.

4 Projective identification

The assumption that a group 1s dependent on its leader who 1s experienced as the source of all
knowledge, health and power refers to

interdependence
dependence
counter-dependence
independence

WO -

Pnmary dimensions are core attributes of each individual that do not change and include

sexual onentation.
work expenence
income
communication style

BN -
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A manager looks at proposed options for changes and says, “Nothing new here, we're already
doing those things In the organisation ” This manager 1s blind o any differences between the
status quo and the new proposals which, of course, makes it unnecessary to consider the
proposed changes

According to which diversity paradigm is the manager behaving?

1 Isolation

2 Toleration

3 Assimilation

4 Denial

According to the model diversity paradigm, sensitivity training 1s used to help

participants to get in touch with their prejudices and stereotyping

1 mutual adaptation

2 assimilation

3 toleration

4 relattonship building
Grl

1ggs (1995) believes that constitutes the only sound reason for valuing diversity,
whether at the personal, interpersonal or organisational level

redressing past wrongs
enlightened self-interest
assuaging guilt

ensuring equal opportunity

sAwNa

According to Cross and White (1996) the implementation of diversity initiatives or interventions
in order to change organisational culture compnses three phases They say that phase 3,
culture change, 1s most successful when corporate leaders

create and support action plans to identify and implement new values
respond to racism and sexism as mdividual issues of awareness
create a culture that encourages only certain employees' contributions.
focus on addressing the concerns of employees by "fixing the victim"

W -

The best-known model for reducing prejudice among individuals within a group Is called the
model

Black Identity Transformation
Mendez-Russell

Contact Hypothesis

Racial Identity Development

AN -

[TURN OVER]




(23)

(24)

(25)

6 IOP2607
10/11 2016

According to De Beer (1998) organisational effectiveness on the first leve! of the sustainable
organisation effectiveness model can be monitored by the following critenion

1 Work quality

2 Market share

3 Profitability

4 Achievement of formal goals

Which one of the following 1s an example of a secondary dimension of diversity?

Mantal status

Age

Sexual onentation
Physical appearance

-WN -

Which one of the following assumes that many behavioural processes occur on both the
conscious and unconscious levels?

Psychoanalysis
Humanism
Containment
Behaviounsm

HBWN =

Sub-total: [25]
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SECTIONB

PLEASE NOTE: Answer only questions 1 and 2 for 25 marks OR answer only questions 3 and 4
for 25 marks.

(1)

)

(3)

4)

Describe social and system domain defences as organisational phenomena llustrate your
discussion by giving relevant examples (15)

Explain Freud's theory of conscious and unconscious behaviour by referring to the iceberg
model Conclude your discussion by explaming how this model helps us to understand
diversity (10)

OR

As the human resource manager in your organisation, you have to convince managers that it is
important to facilitate diversity awareness In the organisation Prowvide an outiine of the basic
arguments you would use dunng these consultations by discussing the three phases of culture
change proposed by Cross and White (1996) for effective implementation of diversity
intiatives (15)

Identfy and discuss the most common and subtle forms of discimination in organisations
Conclude your discussion by indicating the pnmary difference between these two forms of
discnmination {(10)

Sub-total: [25]
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SECTIONC
COMPULSORY
PLEASE NOTE: Answer ALL the questions in this section.

Read the following scenario carefully and then answer the questions that follow:

Thabo completed his marketing degree at Unisa in 2014 He 1s a 33-year-old Xhosa-speaking male
and he 1s married to a nurse Thabo currently works for one of the big marketing firms in South Afnica
He has been in the finance department of the company since 2015 Thabo regularly travels overseas
and is the first and only Afnican (black) partner in the firm He i1s very dedicated to his work, but feels
less and less motivated as he is being prejudged according to his primary and secondary dimensions
of diversity Thabo has also been expenencing high levels of interpersonal conflict and finds 1t difficult
to work effectively with colleagues abroad due to different cultural and value onentations In South
Africa, Thabo supports a big family He has just built a house for his family, which includes his parents,
his parents-in-law and his own three children Although Thabo's wife I1s a registered nurse, she Is
currently unemployed and Thabo s the only one who has a regular income and extensive work
experience

QUESTIONS

(1) Distinguish between pnmary and secondary dimensions of diversity Substantiate your
discussion by identifying, from the scenano, any THREE examples of primary dimenstons and
THREE examples of secondary dimensions (10)

(2) Discuss the nature of prejudiced attitudes and how these attitudes are formed (10)
{3) As the human resource manager i this organisation, you have to develop intercultural

sensitivity among employees Based on the Bennett model for developing tntercuitural
sensitivity, provide an outline of the interventions you would use that will allow for the

acceptance of differences in this organisation {5)
Subtotal: [25]
TOTAL: [75)
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